Two boaters leave Ludington, Michigan, at 8:00 AM. One [s golng to Manitowoc, Wisconsin, at

a direction of 150", The other heads for Milwaukee at a direetion of 200°. Manitowoe is aboul 70 miles
from Ludingion; Milwaukee is about 107 miles. The radios on the boats are good for distances up to

60 miles,

a. With Ludington as the origin, sct up a coordinate system, What are the coordinates of Manitowoe and

Milwankee?
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b, Skeicha vector diagram il the boat o Manilewoe travels at 10 mph and the boat to Milwaukee travels at 12 mph.
How far from each other are the boats at 3:00 AM? At 11:00 Am.?
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d. How far from their destinations are the bosts when lose radio contact?
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